

COUNTY OF SAN DIEGO VOLUNTEER REPORT FORM PERIOD JULY 1, 2024 - JUNE 30, 2025

Deadline: August 8, 2025

1. DEPARTMENT INFORM	ΛA	ATIO	DN:
----------------------	----	------	-----

Department:	Medical Care Services
Division/Unit:	Outreach & Education

2. VOLUNTEER PROGRAM BENEFITS:

a. GENERAL VOLUNTEERS (this section should include community volunteer, student intern, groups, corporations, etc).

No. of Vol. Hours	X	\$40.14	=	\$0.00
-------------------	---	---------	---	--------

Types of work performed by GENERAL VOLUNTEERS in this category:

b. INSTITUTIONAL VOLUNTEERS (this section should include honor camp inmates, PIC/RETC, GAIN, etc.)

No. of Vol.	Hours	X	\$40.14 =	\$0.00
-------------	-------	---	------------------	--------

Types of work performed by INSTITUTIONAL VOLUNTEERS in this category:

c. SPECIALIZED VOLUNTEERS (this section should include utilization of Special Volunteers in positions requiring specific skills and/or expertise levels, for example, an attorney, physician, sports figure or celebrity). These specialized positions have verifiable compensation levels (VCL). If you have such a volunteer, please indicate the position, hours and compensation level below.)

<u>Position</u>			<u>Hours</u>	X	$\underline{\text{VCL}} =$	Dollar Benefit
Physician (MD)		138		\$40.34	\$5,566.92
RNP		_	43		\$40.34	\$1,734.62
		_				\$0.00
		_				\$0.00
		_				\$0.00
No. of Vol.	2	Total Hours	226		Total Value =	\$7,301.54

Types of work performed by SPECIALIZED VOLUNTEERS in this category:

Researching medical literature and conducting analyses

Assisting with teaching wound debridement clinics

Creating slides for presentations

Reviewing written materials and communications

Attending meetings and trainings

Listening sessions with clinical partners

Researching policies and drafting recommendations

d. TOTALS OF DEPARTMENT VOLUNTEERS (from above):

No. of	Volunteers	<u>Hours</u>	Dollar Benefit
2a.	0	0	\$0.00
2b.	0	0	\$0.00
2c.	2	226	\$7,301.54
		<u> </u>	
Total Vol.	2 Hours	226 Total Value =	\$7,301.54

tem Donated:		Valu	۵۰
tam Danatad:		— Valu	
tem Donated:		— Valu	
tem Donated:		Valu	
tem Donated:		Valu	e:
		_	
	TOTAL VALUE =	=	\$0.0
OLUNTEER PROGRAM COSTS: Cost of supervision of volunteeers (total erson (s) directly supervising program volu	-	pervision m	ultiplied by the hourly rate of staff
Hours X Rate	\$40.34	=	\$0.0
. Cost of program coordination (total hour oordinator(s)). This section should include reparation, volunteer placement, recognition	coordination of st		
oordinator(s)). This section should include	coordination of ston, etc.)		ng statistics, job description
oordinator(s)). This section should include reparation, volunteer placement, recognition	coordination of ston, etc.) \$40.34	eaff, compili	ng statistics, job description \$403.4
oordinator(s)). This section should include reparation, volunteer placement, recognition Hours 10 X Rate	coordination of ston, etc.) \$40.34	eaff, compili	ng statistics, job description \$403.4
oordinator(s)). This section should include reparation, volunteer placement, recognition. Hours 10 X Rate . Other program costs (volunteer training recognition).	coordination of ston, etc.) \$40.34	eaff, compili	statistics, job description \$403.4 costs, etc.):
oordinator(s)). This section should include reparation, volunteer placement, recognition. Hours 10 X Rate . Other program costs (volunteer training recognition).	coordination of ston, etc.) \$40.34	eaff, compili	statistics, job description \$403.4 costs, etc.):
oordinator(s)). This section should include reparation, volunteer placement, recognition. Hours 10 X Rate . Other program costs (volunteer training recognition).	coordination of ston, etc.) \$40.34	eaff, compili	statistics, job description \$403.4 costs, etc.):
oordinator(s)). This section should include reparation, volunteer placement, recognition. Hours 10 X Rate . Other program costs (volunteer training recognition).	coordination of ston, etc.) \$40.34	eaff, compili	statistics, job description \$403.4 costs, etc.):
oordinator(s)). This section should include reparation, volunteer placement, recognition. Hours 10 X Rate . Other program costs (volunteer training recognition).	coordination of ston, etc.) \$40.34	eaff, compili	statistics, job description \$403.400.

Please list all donations to the department's Volunteer program including monetary donations and

DONATIONS TO VOLUNTEER PROGRAM:

(add 4a, 4b, and 4c)

3.

4.

5. NET BENEFIT TO DEPARTMENT FROM VOLUNTEER PROGRAM:

a. Total Dollar Benefits of Volunteers, Item 2d (Page 2)

b. Total of Donations to Volunteer Program, Item 3 (Page 2)

c. Subtract Total of Program Costs, Item 4d (Page 3)

\$ 50.00

TOTAL PROGRAM BENEFIT

\$6,898.14

6. RECRUITING:

Please describe your recruiting programs:

7. SPECIAL VOLUNTEER PROGRAM ACTIVITIES/ACHIEVEMENTS:

Please describe any special activities and/or achievements your program was involved in during the period of this report:

8.	VOLUNTEER PROGRAM GOALS FOR FISCAL YEAR 2024-25:
	Please describe your program goals. Include activities, number of volunteers, recruitment, training, recognition and other goals:

9. GENERAL INFORMATION:

Name of person completing re	Emily Nguyen			
Phone: 619-977-4969	Mail Stop:	S-555	E-Mail:	emily.nguyen2@sdcounty.ca.gov

Volunteer Coordinator: Emily Nguyen

Phone: 619-977-4969 Mail Stop: S-555 E-Mail: emily.nguyen2@sdcounty.ca.gov

10. DEPARTMENT CERTIFICATION:

Funifur M. Tuteur, MD

DEPARTMENT HEAD SIGNATURE

DATE